yoojin

From: shaun cho

Sent: Saturday, June 29, 2024 3:14 AM

To: yoojin; GRACE LEE

Subject: Fwd: Final Payment Statement 408039 11Aug24 HANA GROUP [Team North America]

American Airlines Groups

Shaun Cho PhilaHana Travel & Tours 7827 Old York Road Suite 101 Elkins Park, Pa 19027 215-935-2500

www.PhilaHana.com

From: noreply@groups.aa.com <noreply@groups.aa.com>

Sent: Saturday, June 29, 2024 1:46:09 AM **To:** shaun cho <shaun@ihanatour.com>

Subject: Final Payment Statement 408039 11Aug24 HANA GROUP [Team North America] American Airlines Groups





Final Payment Statement

Group booking details				
Agency	39614326 HANATOUR			
Booked by	GRACE LEE			
Group travel reference	408039			

Key dates				
Today's date	Saturday 29-Jun-2024			
Days to departure	43			
Deposit payment deadline	Monday 23-Oct-2023			

Group name HANA GROUP Deposit payment due

status Group size 23

Utilization period start Tuesday 14-May-Passengers 23 Seated 2024

breakdown Final payment Main PNR **GDMZYJ** Friday 12-Jul-2024

deadline **Booking**

Monday 09-Oct-2023

Final payment status confirmation date

Passenger naming **IATA Premier 1.x** Friday 12-Jul-2024 and ticketing deadline Terms and **Terms & Conditions**

Conditions (I/NA)

PNR GDMZYJ

Booked & Deposit Committed Status Created Monday 09-Oct-2023 09:44:06

Group name HANA GROUP

21 Group size Unnamed 21

Itinerary

Flight	Departure	Date	Time	Terminal	Arrival	Date	Time	Terminal	Cabin	Airline
AA0744	Philadelphia Intl, PA, US (PHL)	11Aug24	21:45	TERMINAL A	Copenhagen Kastrup, DK (CPH)	12Aug24	11:10	TERMINAL 2	Economy	American Airlines
AA0745	Copenhagen Kastrup, DK (CPH)	21Aug24	14:00	TERMINAL 2	Philadelphia Intl, PA, US (PHL)	21Aug24	16:30	TERMINAL A	Economy	American Airlines

Adult

Costs	Seated	Sub Total
Netfare	21 @ \$480.00	\$10,080.00
Taxes, Fees	21 @ \$104.10	\$2,186.10
Carrier Charges	21 @ \$327.00	\$6,867.00
Total	21 @ \$911.10	\$19,133.10
Grand Total		\$19,133.10

PNR NBDRLX

Status Booked & Deposit Committed Friday 17-May-2024 13:03:22 Created

Group name HANA GROUP Group size 2 Unnamed 2

Itinerary

Flight	Departure	Date	Time	Terminal	Arrival	Date	Time	Terminal	Cabin	Airline
AA0744	Philadelphia Intl, PA, US (PHL)	11Aug24	21:45	А	Copenhagen Kastrup, DK (CPH)	12Aug24	11:10	2	Premium Economy	American Airlines
AA0745	Copenhagen Kastrup, DK (CPH)	21Aug24	14:00	2	Philadelphia Intl, PA, US (PHL)	21Aug24	16:30	Α	Premium Economy	American Airlines

Adult

Costs	Seated	Sub Total
Netfare	2 @ \$600.00	\$1,200.00
Carrier Charges	2 @ \$850.00	\$1,700.00
Taxes, Fees	2 @ \$104.10	\$208.20
Total	2 @ \$1,554.10	\$3,108.20
Grand Total		\$3,108.20

PNR LSOZAW

Status Post Deposit Cancellation
Created Monday 09-Oct-2023 09:44:06

Group name HANA GROUP

Group size 7 Unnamed 7

Itinerary

Flight	Departure	Date	Time	Terminal	Arrival	Date	Time	Terminal	Cabin	Airline
	Philadelphia Intl, PA, US (PHL)				(CPH)					
AA0745	Copenhagen Kastrup, DK (CPH)	21Aug24	14:00	TERMINAL 2	Philadelphia Intl, PA, US (PHL)	21Aug24	16:30	TERMINAL A	Economy	American Airlines

Adult

Costs	Seated	Sub Total
Netfare	7 @ \$0.00	\$0.00
Carrier Charges	7 @ \$0.00	\$0.00
Taxes, Fees	7 @ \$0.00	\$0.00
Deposit Penalties	7 @ \$0.00	\$0.00

Grand Total		\$400.00
Total	1 @ \$400.00	\$400.00
Deposit Penalties	1 @ \$400.00	\$400.00
Taxes, Fees	1 @ \$0.00	\$0.00
Carrier Charges	1 @ \$0.00	\$0.00
Netfare	1 @ \$0.00	\$0.00
Costs	No Seated	Sub Total
Total	7 @ \$0.00	\$0.00

7 @ \$0 00

Total

Costs		
Netfare		\$11,280.00
Taxes, Fees		\$2,394.30
Carrier Charges		\$8,567.00
Deposit Penalties		\$400.00
Total		\$22,641.30
Payments	\$0.00	Deposit Payment Due Status
Less Final Payment Paid	\$22,641.30	Final Payment Due Status
Outstanding Balance :	\$22,641.30	

Adult: Child Ratio - nonstop flts 1:20, conx flts 1:15

If your booking is changed prior to final payment, the costs and itinerary information above will need to be refreshed via the Site (or by contacting the American Airlines Group Desk), before paying the final amount or if an IATA travel agent a commitment to pay the final amount.

¢η ηη

Final payment and final payment deadline

Final payment will be due by Friday 12 July 2024.

Final payment may be by credit card or by the rules governing agency claim for ticketing (AA reserves the right to limit the agency claim option). Electronic Funds Transfer (EFT), money order and check are also available for use in limited locations.

For payment by EFT, please allow sufficient time for bank clearance, as the final payment deadline cannot be extended and is subject to American Airlines receiving cleared funds by this due date.

For other changes or reduction in group size, please refer to the Terms and Conditions which apply to your contract.

Failure to pay the final payment by the final payment deadline (by cleared funds) will result in the cancellation

of this booking without notice. For the avoidance of doubt, even if a deposit amount has been paid but you fail to pay the final payment by the final payment deadline, cancellation fees will apply including loss of deposit.

Passenger naming and ticketing deadline

Passenger naming and ticketing is due by Friday 12 July 2024.

The name and specific details of each passenger must be provided by the passenger naming deadline. The ticketing agency is responsible for ensuring that all secure flight passenger data is properly collected and added to the reservation. This can be done by entering the information directly into the site, downloading the Passenger naming spreadsheet and uploading it prior to the deadline, or by contacting the American Airlines Group Desk. It is also strongly recommended to provide APIS information at this time.

The United States of America (USA) Government requires all airlines to provide additional passenger information for any passenger booked on flights to, from, over or within the USA. The full name as it appears on the passengers' government-issued identification to be used, date of birth, gender and Redress number (if available) for Secure Flight Passenger Data (SFPD) is required prior to issuing a ticket.

Ticketing must be complete by the ticketing deadline for all passengers.

If you have any questions, please contact us on the details below:

Failure to provide names or ticket numbers by the deadline may result in the booking being cancelled without notice. Applicable cancellation fees will apply.

USA	aagmt.internet@aa.com	800-221-2255
Regards		
American Airlines		

Please do not reply to this email address as it is not monitored. This email was sent to shaun@ihanatour.com.

oneworld® is a registered trademark of oneworld® alliance, LLC.

© American Airlines, Inc. All Rights Reserved.